

$$\frac{\sqrt{m+1}}{\sqrt{m-1} + r} - \frac{\sqrt{m+1}}{r - \sqrt{m-1}} = \frac{n-1}{\sqrt{m-1}}$$

$n-1 \geq 0 \rightarrow n > 1$ \rightarrow $m > 1$ \rightarrow $m > 1$

$$(\sqrt{m-1} + r)(r - \sqrt{m-1}) = r^2 - (m-1) = r^2 - m + 1 = 10 - m$$

$$\frac{\sqrt{m+1}(-r\sqrt{m-1})}{10-m} = \frac{-r\sqrt{m-1}}{10-m}$$

$f(a) \rightarrow f(a) = b \rightarrow f(b) = a \rightarrow a = b \rightarrow f(a) = a$

$$f(m) = m \rightarrow m^r - r m + r = m \rightarrow m^r - r m + r = m \rightarrow \frac{r\sqrt{m+1}(m-1)}{10-m}$$

$$(r\sqrt{m+1} \geq 10-m) \rightarrow 10-m \geq 0 \rightarrow m \leq 10$$

سوال Δ

$$t = \sqrt{r-m} \quad m < r, \sqrt{r-m} \geq 0 \quad t > 0$$

$$r-m = t^2 \quad \frac{1}{t+r} - \frac{1}{r-t} = \frac{t}{a}$$

$$(t+r)(r-t) = \epsilon - t^2 \quad \frac{(r-t) - (t+r)}{(t+r)(r-t)} = \frac{t}{a}$$

$$\frac{-rt}{\epsilon - t^2} - \frac{t}{a} = 0 \rightarrow t \left(\frac{-r}{\epsilon - t^2} - \frac{1}{a} \right) = 0$$

$$\frac{-r}{\epsilon - t^2} = \frac{1}{a} \rightarrow -r \times a = 1 \times (\epsilon - t^2)$$

$$-1 = \epsilon - t^2 \rightarrow t^2 = 1 + \epsilon \rightarrow \sqrt{1+\epsilon} = \sqrt{r-m}$$

$$1 + \epsilon = r - m \rightarrow m = r - 1 - \epsilon$$

زادروز زرتشت پیامبر $x = -12$ رتبه ستر است پس جمله هجدهم شنبه ندارد

۴

$$\frac{n_0}{y} = \frac{\epsilon}{\Delta} \rightarrow n = \frac{\epsilon}{\Delta} y \rightarrow w = \frac{\epsilon}{\Delta} y$$

سوال ۱

$$T = \frac{n_1}{y} = \frac{1 + \sqrt{\Delta}}{r}$$

$$\frac{1 + \sqrt{\Delta}}{r} w \times w = \frac{1 + \sqrt{\Delta}}{r} \frac{\epsilon^2 y^2}{\Delta^2} = \frac{r + \sqrt{\Delta}}{\Delta}$$

$$A_0 = n_0 y = \frac{\Delta^r}{\Delta} y^r$$

~~$$A_0 = \frac{\Delta^r}{\Delta} y^r$$~~

۵

$$\frac{A_1}{A_0} = \frac{T y^r}{\frac{\Delta^r}{\Delta} y^r} = \frac{\Delta}{\epsilon} T$$

~~$$\frac{A_1}{A_0} = \frac{T y^r}{\frac{\Delta^r}{\Delta} y^r} = \frac{\Delta}{\epsilon} T$$~~

مسئله ۲

$$d = \sqrt{n^r + y^r}$$

$$\frac{\sqrt{n^r + y^r}}{n} = T$$

سوال ۲

$$n^r + y^r = T^2 n^r$$

$$y^r = (T^2 - 1) n^r$$

$$\left(\frac{n}{y}\right)^r = \frac{n^r}{y^r} = \frac{1}{T^2 - 1}$$

$$T^2 - 1 = T$$

۶

$$\left(\frac{1}{y}\right)^r = \frac{1}{T}$$

$$n^r + y^r = \frac{r + \sqrt{\Delta}}{\Delta} y^r \rightarrow$$

$$n^r = \frac{r + \sqrt{\Delta} - r}{\Delta} y^r$$

$$\frac{y^r}{n^r} = \frac{r}{r + \sqrt{\Delta}}$$

عید نوروز (تعطیل)

۵

$$3a + \sqrt{2a^2 + \epsilon a} = r$$

$$\frac{a+1}{a} = ?$$

سوال ۳

$$\left(\sqrt{2a^2 + \epsilon a}\right)^2 = (r - 3a)^2 \rightarrow 2a^2 + \epsilon a = 9a^2 + \epsilon + -12a$$

۶

$$7a^2 - 14a + \epsilon = 0 \quad \Delta = (14)^2 - 4(7)(\epsilon) = 14\epsilon \rightarrow \sqrt{\Delta} = 14\sqrt{\epsilon}$$

$$a = \frac{14 \pm 14\sqrt{\epsilon}}{14} \begin{cases} r & \text{سویق} \\ \frac{r}{\sqrt{\epsilon}} & \text{سویق} \end{cases}$$

$$\frac{r+1}{\frac{r}{\sqrt{\epsilon}}} = \frac{r}{\frac{r}{\sqrt{\epsilon}}} = \frac{r}{r} = 1$$

سوال ۴

$$\frac{1}{m^2} + \frac{1}{(1-m)^2} = \frac{140}{9}$$

$$(1-m)^2 + m^2 = 1 - 2m + m^2 + m^2 = 1 - 2m + 2m^2$$

$$\frac{1 - 2m + 2m^2}{m^2(1-m^2)} = \frac{140}{9}$$

۵

$$9(1-2m+2m^2)^2 = 140(m^2-m^4+m^2)$$

$$140m^6 - 320m^4 + 140m^2 - 14m^4 + 14m - 9 = 0$$

$$140m^6 - 320m^4 + 142m^2 + 14m - 9 = 0$$

$$\frac{-(-320)}{140} = \frac{320}{140} = 2$$

$$\sqrt{n + \sqrt{-n^3 + 8m^2 + 24n - 100}} + \sqrt{m^2 + \sqrt{-m^2 + 4m - 1}} = n + 2$$

سوال ۷

① $-m^3 + 8m^2 + 24n - 100 > 0$

② $-m^2 + 4m - 1 \geq 0 \rightarrow m^2 - 4m + 1 \leq 0 \rightarrow (m-2)(m-8) \leq 0 \rightarrow n \in [2, 8]$

۶

③ $m \geq 0$

$m = 2 \rightarrow \sqrt{2 + \sqrt{-8 + 32 + 48n - 100}} + \sqrt{4 + \sqrt{-4 + 8 - 1}} = \sqrt{-8 + 40n - 68} + \sqrt{4 + \sqrt{-4 + 7 - 1}} = \sqrt{-8 + 40n - 68} + \sqrt{4 + \sqrt{-4 + 6 - 1}} = \sqrt{-8 + 40n - 68} + \sqrt{4 + \sqrt{-4 + 5 - 1}} = \sqrt{-8 + 40n - 68} + \sqrt{4 + \sqrt{-4 + 4 - 1}} = \sqrt{-8 + 40n - 68} + \sqrt{4 + \sqrt{-4 + 3 - 1}} = \sqrt{-8 + 40n - 68} + \sqrt{4 + \sqrt{-4 + 2 - 1}} = \sqrt{-8 + 40n - 68} + \sqrt{4 + \sqrt{-4 + 1 - 1}} = \sqrt{-8 + 40n - 68} + \sqrt{4 + \sqrt{-4 + 0 - 1}} = \sqrt{-8 + 40n - 68} + \sqrt{4 + \sqrt{-4 - 1}} = \sqrt{-8 + 40n - 68} + \sqrt{4 + \sqrt{-5}}$

$m = 8 \rightarrow \sqrt{8 + \sqrt{-512 + 512 + 192n - 100}} + \sqrt{64 + \sqrt{-64 + 32 - 1}} = \sqrt{8 + \sqrt{-512 + 192n - 100}} + \sqrt{64 + \sqrt{-32 - 1}} = \sqrt{8 + \sqrt{-512 + 192n - 100}} + \sqrt{64 + \sqrt{-33}}$

تعداد جواب‌ها خارج از این محدوده است

$m < -r \rightarrow |m+r| = -(m+r) = -m-r$ سوال ۸
 $|m-1| = -(m-1) = -m+1$
 $y = (-m-r) + (-m+1) = -2m-1$

$-r \leq m < 1 \rightarrow |m+r| = m+r$
 $|m-1| = -(m-1) = -m+1$
 $y = m+r - m + 1 = r+1$

$m > 1 \rightarrow |m+r| = m+r$
 $|m-1| = m-1 \rightarrow y = m+r + m-1 = 2m+r$

$-r \leq m-1 < \frac{1}{r} \rightarrow -4m - r = 1/r - m \rightarrow -3m = 1/r - r \rightarrow m = \frac{r^2 - 1}{3r}$

$y = -r(-\frac{1}{r}) = 1 = 1 - 1 = 0 \rightarrow (-\frac{1}{r}, 0)$

$r \leq m+1 < \frac{1}{r} \rightarrow rn = 1/r \rightarrow n = \frac{1}{r^2} \rightarrow (r, \frac{1}{r^2})$

$A = (-\frac{1}{r}, 0) \quad B = (r, \frac{1}{r^2}) \quad AB = \sqrt{(r - (-\frac{1}{r}))^2 + (\frac{1}{r^2} - 0)^2} = \sqrt{r^2 + \frac{1}{r^2} + \frac{1}{r^4}}$

$m^2 - \epsilon m + \epsilon = (m-r)^2 \rightarrow y = \sqrt{(m-r)^2} = |m-r|$

① $m-r \geq 0 \rightarrow m \geq r \rightarrow m-r = \frac{1}{r} m+r$

$m - \frac{1}{r} m = r+r \rightarrow \frac{1}{r} m = 2r \rightarrow m = 2r^2$ سوال ۵

② $m-r < 0 \rightarrow m < r \rightarrow -(m-r) = r-m = \frac{1}{r} m+r$

$r-m = \frac{1}{r} m+r \rightarrow r-r = m + \frac{1}{r} m \rightarrow \frac{1}{r} m = 0 \rightarrow m = 0$

$$r \leq m \leq n \rightarrow \frac{1}{r} m + r, |m - r| = n - r$$

$$\begin{aligned} \text{مقدار } r &= r \\ \text{مقدار } S &= \frac{r \times r}{r} = r \end{aligned}$$

$$\frac{r \times r}{r} = r \leftarrow m = n \text{ و } m = r$$

$$S = r + r = 2r$$

$$\text{فرکانس } = F \quad B = F - 9$$

$$\text{تعداد } = B$$

$$\frac{1}{B} + \frac{1}{F} = \frac{1}{r_0} \rightarrow \frac{1}{F-9} + \frac{1}{F} = \frac{1}{r_0}$$

$$\frac{r_0(F-9)}{F(F-9)} = \frac{1}{r_0} \rightarrow r_0(F-9) = F(F-9) \Rightarrow$$

$$r_0 F - 9r_0 = F^2 - 9F$$

$$F^2 - r_0 F + 9r_0 - 9F = 0$$

$$B = F - 9 = r_0 \left((F - 9r_0)(F - 9) \right) \begin{cases} \text{ع } \Delta \text{ و } \bar{S} \\ + \text{ع } \bar{G} \text{ و } \bar{E} \end{cases}$$